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CHAPTER

Q1

Q.2

Q.3

Q4

Qs

Aparl from gravily loads which of Ihe tollowing
loads are also considered in Lhe design o gantry
girder located within an industrial building

(@) Longitudinalicad (b) Lateralload

{c) Bolh{a)and(b) {d) Noneolthese

Whatis the additicnat load to be considered, for
verlical forces lransterred 1o the rails for hand
operated cranes, when gantry girder is subjected
lo impacl loads?

(8) 25% ol maximum static whee! Toad

(b} 10% of maximum static whesl load

{c) 5% of static wheelfoad '

{d) none of these

What is the design shear rali'gue slress for a lifg
cycle of N7 : o
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where the symbols have their usual meaning.
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Computalion for fatigue strength should be made
alservice load wilh atoad factor of

@ 1.15 {b) 1.5

{c) 2 () noncof these

Whal is lho vetlical deflection himit for Gantry
girders wilh electrically operated cranes of

capacily exceeding 500 kN?
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Q7

Q.8

Q.9

| Design of Steel Structures

Which one of the following is the most efficient
section for a simply supporled gantry Girder.
(@) Symmatrical /-section

{b} Back 1b Back connected channel section
{c} #-seclion with channel section al the top llange
(d) Box section

Which one of the following stalsment is correct?
In a crane ganiry girder, a channel is provided at
the top flange of the girder. This accounls for
bending in

. (8). horizontal plane only

{b). verlical prane only
(c) horizonlat and vertical planes
(d) norizonial and verlical planes and twisling

A ganlry girder has been provided wilh lhe
following seclions as shown in the lollowing
figures:

CatWalk

LTI

3 4

. In which case (s}, the allowablg siresses in
bending compression is equal lo.(hat in tension? -

Select the comrect answer using the codes given
below:

(a) "1and 2
{c) 4only

(o) 2and3
{d) 3only

The maximum permissible dellection for a ganiry
girder of span 6 m on which an EOT crane of
capacily 200 ki is operaling is

(a) 8mm {p) 10mm

© 12mm {d} 18Bmm

(e} 2.(b) 3.(a) 4.(d) 5 (d)

Explanatlons “-_;Gélitry"Glrder'.,

4.

(1]
Compulation for faligue sirength should be made
al service loads, with a load factor of 1.0,

{c)
When he tyffiression llange is laterally
supported by either a cat walk or by additional

6.(c) 7.{a) 8.{e}) 9 {a)

member then the allowable siress in bending
compression is equal 1o that in tension, !

(e}

Maximum permissible deflection for EOT crane

operaled ganiry giver i
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